
CQ6221 Instruction Manual



2
1

3.2mm

6mm



2

Assembly Drawing

[1]  8xWall Plugs
[2]  2xWall Posts
[3]  16xScrew Cover Caps
[4]  16xScrews M4x35

[ ] 8xScrews M4x2516

[5]  8xScrews M4x8
[6]  2xPosts
[7]  1xWater Prof

[14] 1xBottom Door Gasket

[9]  2xHange 

[10] 1xTop Horizontal Rail

[8]  1xBottom Horizontal Rail

[11] 2xRotating Shaft
[12] 1xDoor Panels
[13] 1xHandle Sets

[15] 8xBumper Mouldings

[1]

[3]

[4]

[5]

[6]

[12]

[2]

[8] 

[7]

[17]

[18]

[11]

[13]

[9]

[6]

[16]

[14]

[10]

[15]

[18] 2x”U”Shaped Grooues
[17] 2xScrews M4x12



Installation Steps

Step 1

3

St p 2e

2

3

1 2

1

3

Flat M4x35

View from inside
1

1

1

1

Screw M4x25

1
1

a\b

 M4x25

1

2

2

 3

Screw 
M4x12

View from inside



St p 3e

St p 4e

4

View from inside View from inside

1a

1b

1

1

2c

2b

2a

1

1b

1a

1c

Screw M4x25

670

5
646

5

670

646

3.2mm



 5

St p 6e

St p 5e

2a

2b

1a

1b

1

2

View from inside

1

1


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

